
 
Kolpin Outdoors, Inc. | 9955 59th Ave N | Plymouth, MN 55442 

1 877 956-5746 or 763-478-5800 | kolpin.com |  customerservice@kolpin.com 
 

Rev 02 

  
 

53350 Convertible Rear Drop Basket 

Instruction Manual 
 

 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
Note: This product is designed to be used on tubular steel racks. 
 
Drop Basket Assembly: 

1. Attach the Mesh Platform [Item 4] to the Left Side Rail [Item 3] and Right Side Rail [Item 2] using the four M8 x 
68mm Allen Screws. Loctite can be placed on the screws to prevent any loosening.   
 

2. The Welded Basket can be attached in the Dropped or Raised position. Attach the Welded Basket [Item 1] to the 
Left and Right Side Rails using four M8 x 48mm Allen Screws, four M8 Washers and four M8 Locknuts.   

 

     
 
 

Drop Basket Mounting: 
1. Locate positions on your ATV rack to mount the Drop Basket.   

 
2. Two different sizes of U-Bolts [Items 8 & 9] are provided. Choose which size fits your application best. A total of 

four U-Bolts will be used for installation.    
 

3. Slide the U-Bolts under the OEM ATV Rack and around the Drop Rack tubing or through the Drop Rack steel 
mesh. Slide Washer Plate for U-Bolts over the U-Bolts and attach the ¼”- 20 Nylon Locknuts.  

 
Drop Basket Use: 

 Note that the Basket is designed to transport only as much as your ATV recommends.  Do not carry more than 
the ATV manufacturer recommends, as too much weight can result in loss of steering and could lead to serious 
injury or death.  

Item Description Qty 

1 Welded Basket 1 
2 Right Side Rail 1 

3 Left Side Rail 1 
4 Mesh Platform 1 

5 ¼”- 20 x 1.30” x 2” U-Bolt 4 

6 ¼”- 20 x 1.75” x 3” U-Bolt 4 
7 ¼”- 20 Nylon Locknut 8 

8 Washer Plate for U-Bolts  4 

9 Rubber Thread Caps 8 
10 M8 x 48mm Allen Screws 4 

11 M8 x 68mm Allen Screws 4 

12 M8 Washer 4 

13 M8 Locknut 4 

14 Allen Wrench  1 

2
1 

4
1 

3
1 

1
1 

DROPPED RAISED 


